1. Cymma  kopHel  (KOpeHb, €CIM  OH  COMHCTBEHHBIH)  ypaBHCHHS
V2x—3-v/x+1 =3 —x pasua (paBen):
-5—-V73 —5+V73
1) 2) i 3) 10 4)5 5)—12
2 2
2. Cymma  kopHeir  (KOpeHb, €CIM  OH  COUHCTBEHHBIH)  YpaBHCHHUS
V2x—1-v/x+1 =4 — x pasua (paBeH):
—9—-+149 —-9++/149
2TV gy 3y 2V 47 518
2 2
3. Cymma  kopHeit  (KopeHb, €CIM  OH  €IMHCTBCHHBIH)  ypaBHEHHS
V3x+2-v/x—2=5—x paBHa (paseH):
—3_-1/67 _ \/
1) 73 6 2)6 3)-29 4)3 5) 43 + V67
2 2
4. Cymma  KopHeil  (KOpeHb, €CIM OH  CIMHCTBEHHBIH)  ypaBHEHUS
V2x+1-vx+1=4—x pasHa (paseH):
—11—-+/181 —11++/181
1)22 2) 78 3) +78 4)-15 5) 11
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